CEPC LumiCal group meeting

Jiading Gong, Renjie Ma

2025/6/4



Comparison

@92.3 GeV

CMS generated | e~ .or. €T to pipe Single ¢~ in Both e~.and. e in
Thl, Th2 (mRad) centers (mm) (mm) (mm) (mm) (mm)
10 to 80 10<r |y <80 | r>20 .and.|y|>20 | r>20 .and. |y|> 20
a (nb) 1172.45 1217.45 217.20 137.46 140.74 131.21
10 to 80 10<r |yl <80 | r>25 .and. |y|>25|r>25 .and. |y| > 25
o (nb) 1172.45 1217.45 133.42 82.20 85.89 78.08
10 to 120 10<r|y <120 [ 7>25 .and. |y[>25|r>25 .and |yl>25
o (nb) 1181.94 1226.98 144.59 91.34 96.94 87.18
CMS generated | e .or.e” to pipe ' Both e".ande™ in
Th1, Th2(mrad) centers (mm) (mm)
o (le) 10 to 80 10 <, |yl <80 20<r .and.|y|>20 20<r .and. |y| > 20
1172.45 1242.98 290.26 137.20 287.31 131.11
o (le) 10 to 80 10 <, |yl <80 25<r .and.|y|>25 25<r .and. |y| > 25
1172.45 1242.98 178.70 81.98 170.73 77.99
o (nb) 10 to 120 10 <, |yl <120 25<r .and.|y|>25 25<r .and. |y| > 25
1181.94 1252.38 189.81 91.13 181.88 87.05
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Comparison

@91 GeV (BHLUMI)
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Comparison

@240 GeV (BHLUMI)

CMS generated

Thl, Th2(mrad)

e .or.et to pipe
centers (mm)

Both e".ande™
(mm)
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Comparison

@92.3 GeV

CMS generated | e .or.e" to pipe Single e~ in Both e".ande™ in
Thl, Th2(mrad) centers (mm) (mm) (mm)
thl =0.01, o (nb) 10 to 80 10 < 7,]yl < 80 20<r .and. ly|>20 20<r  .and.|y|> 20
th2 =0.08 or 0.12, 1172.45 1242.98 290.26 137.20 287.31 131.11
thmin = 0.7* thl, o (nb) 10 to 80 10 < r,|y| < 80 25<r .and. |y|>25 25<r  .and.|yl> 25
thmax = 2*th2 1172.45 1242.98 178.70 81.98 170.73 77.99
o (le) 10 to 120 10<r,|y] <120 25<r .and.|y|>25 25<r .and. |y| > 25
1181.94 1252.38 189.81 91.13 181.88 87.05
ReneSANCe | CMS generated | e”.or.e” to pipe ‘ Both e”.ande" in
Th1, Th2(mrad) centers (mm) (mm)
th1 = 0.007, 10 to 80 10 <7,|y| < 80 20 d. |yl >20 20 d. |yl > 20
o o (nb to <rlyl < <r .and.|y|> <r .and. |y| >
ghmm 3;1/2 i) 1223.68 1333.88 351.78 172.22 33031 156.61
thmax = o (nb) 10 to 80 10 <7,lyl <80 25<r .and. |y|>25 25<r  .and.|y|>25
1223.68 1333.88 225.85 106.96 21131 96.64
o (nb) 10 to 120 10 <, |yl <120 25<r .and.|y|>25 25<r .and. |y| > 25

2025/6/4 1240.96 1351.72 242.87 121.11 228.46 110.69



Comparison

@92.3 GeV

BHLUMI | CMS generated | e .or.e" to pipe Single e~ in Both e".ande™ in
Th1, Th2(mrad centers (mm mm mm
9
th1 = 0.007,
th2 =PI /2 o (nb) 10 to 80 10 <r,|yl <80 20<r .and.|y|>20 20<r .and. |y| > 20
: ’ 1171.55 1241.93 290.17 137.32 278.17 131.13
thmin = thl,
_ o (nb 10 to 80 10 <r,|yl <80 25<r .and.|y|>25 25<r .and. |y| > 25
thmax = th2 (nb) 1171.55 1241.93 178.69 8196 170.75 77.92
o (le) 10 to 120 10 <r,|y] <120 25<r .and.|y|>25 25<r .and. |y| > 25
1182.88 1253.27 190.01 91.26 182.06 87.12
ReneSANCe | CMS generated | e”.or.e” to pipe ‘ Both e”.ande" in
Th1, Th2(mrad) centers (mm) (mm)
thl = 0.007, o (nb) 10 to 80 10 <7,|yl <80 20<r .and.|ly|>20 20<r  .and.|y|>20
thmin = thl, 1223.68 1333.88 351.78 172.22 330.31 156.61
thmax = PI/2 o (nb) 10 to 80 10 <]yl <80 25<r .and.|ly|>25 25<r  .and.|y|>25
1223.68 1333.88 225.85 106.96 211.31 96.64
o (nb) 10 to 120 10 <, |yl <120 25<r .and.|y|>25 25<r .and. |y| > 25

2025/6/4 1240.96 1351.72 242.87 121.11 228.46 110.69
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BHLUMI
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Comparison

BHLUMI @92.3 GeV
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